
U3A Bridge Competition on Wednesday 8th November 2023 - Howell Movement

Match Point Scores
Board Numbers

Pairs 1 2 3 4 5 6 7 8 9 10 11 12 13 14 Total Perc

Pair-1 Sheila S & Peter La 6 4 1 4 4 2 6 1 2 0 3 0 6 6 45 53.6
Pair-2 Sue T & Roy 0 2 0 0 4 4 3 6 2 3 3 3 4 2 36 42.9
Pair-3 Diane & Keith 3 0 1 2 0 0 0 4 6 6 3 6 2 4 37 44.0
Pair-4 Louise La & Roger 3 0 5 4 2 2 3 1 4 6 0 3 5 2 40 47.6
Pair-5 Anne M & Ray 3 6 4 0 0 2 0 5 0 0 3 3 1 0 27 32.1
Pair-6 Carole & Shirley 0 2 5 2 6 4 6 2 4 3 6 0 1 4 45 53.6
Pair-7 Julia & Dave E 6 4 2 6 6 6 3 0 0 3 6 3 0 0 45 53.6
Pair-8 David P & Les 3 6 6 6 2 4 3 5 6 3 0 6 5 6 61 72.6

Board N-S E-W N-S E-W Board N-S E-W N-S E-W
No: N-S E-W Cont By Tricks Score Score Pts Pts No: N-S E-W Cont By Tricks Score Score Pts Pts

1 Sheila S & Peter La Sue T & Roy 4H* N 10 590 -590 6 0 2 Sheila S & Peter La Sue T & Roy 1NT W 7 -90 90 4 2
1 David P & Les Diane & Keith 4H N 11 (+1) 450 -450 3 3 2 David P & Les Diane & Keith 1NT W 6 (-1) 50 -50 6 0
1 Carole & Shirley Julia & Dave E 4H N 10 420 -420 0 6 2 Carole & Shirley Julia & Dave E 1NT N 6 (-1) -100 100 2 4
1 Louise La & Roger Anne M & Ray 4H N 11 (+1) 450 -450 3 3 2 Louise La & Roger Anne M & Ray 1S W 8 (+1) -110 110 0 6

3 Diane & Keith Louise La & Roger 4S S 11 (+1) 450 -450 1 5 4 Diane & Keith Louise La & Roger 3NT W 9 -600 600 2 4
3 Sheila S & Peter La Carole & Shirley 4S S 11 (+1) 450 -450 1 5 4 Sheila S & Peter La Carole & Shirley 2NT E 10 (+2) -180 180 4 2
3 Anne M & Ray Julia & Dave E 3NT N 11 (+2) 460 -460 4 2 4 Anne M & Ray Julia & Dave E 4S E 10 -620 620 0 6
3 David P & Les Sue T & Roy 4S S 13 (+3) 510 -510 6 0 4 David P & Les Sue T & Roy 4S E 9 (-1) 100 -100 6 0

5 Anne M & Ray Carole & Shirley 2H S 7 (-1) -100 100 0 6 6 Anne M & Ray Carole & Shirley 2D S 11 (+3) 150 -150 2 4
5 Julia & Dave E Diane & Keith 2D N 10 (+2) 130 -130 6 0 6 Julia & Dave E Diane & Keith 3D N 12 (+3) 170 -170 6 0
5 Sheila S & Peter La David P & Les 2S N 8 110 -110 4 2 6 Sheila S & Peter La David P & Les 2D N 11 (+3) 150 -150 2 4
5 Louise La & Roger Sue T & Roy 2D N 8 90 -90 2 4 6 Louise La & Roger Sue T & Roy 1D N 11 (+4) 150 -150 2 4

7 Louise La & Roger David P & Les 1S E 8 (+1) -110 110 3 3 8 Louise La & Roger David P & Les 3H N 7 (-2) -100 100 1 5
7 Sue T & Roy Julia & Dave E 1S E 8 (+1) -110 110 3 3 8 Sue T & Roy Julia & Dave E 2H N 9 (+1) 140 -140 6 0
7 Sheila S & Peter La Anne M & Ray 1NT S 6 (-1) -100 100 6 0 8 Sheila S & Peter La Anne M & Ray 1NT S 5 (-2) -100 100 1 5
7 Diane & Keith Carole & Shirley 1NT S 5 (-2) -200 200 0 6 8 Diane & Keith Carole & Shirley 1S S 6 (-1) -50 50 4 2

9 Julia & Dave E David P & Les 1NT W 8 (+1) -120 120 0 6 10 Julia & Dave E David P & Les 3C E 9 -110 110 3 3
9 Diane & Keith Anne M & Ray 1D N 8 (+1) 90 -90 6 0 10 Diane & Keith Anne M & Ray 2H N 7 (-1) -100 100 6 0
9 Carole & Shirley Sue T & Roy 1C N 6 (-1) -50 50 4 2 10 Carole & Shirley Sue T & Roy 2C E 9 (+1) -110 110 3 3
9 Sheila S & Peter La Louise La & Roger 1NT W 7 -90 90 2 4 10 Sheila S & Peter La Louise La & Roger 3C E 10 (+1) -130 130 0 6

11 Sue T & Roy Anne M & Ray 2H W 6 (-2) 100 -100 3 3 12 Sue T & Roy Anne M & Ray 2S N 10 (+2) 170 -170 3 3
11 Julia & Dave E Louise La & Roger 2S W 3 (-5) 250 -250 6 0 12 Julia & Dave E Louise La & Roger 2S N 10 (+2) 170 -170 3 3
11 David P & Les Carole & Shirley 3S S 7 (-2) -100 100 0 6 12 David P & Les Carole & Shirley 4S N 10 620 -620 6 0
11 Sheila S & Peter La Diane & Keith 3H W 7 (-2) 100 -100 3 3 12 Sheila S & Peter La Diane & Keith 4H W 9 (-1) 50 -50 0 6

13 Carole & Shirley Louise La & Roger 3D W 9 -110 110 1 5 14 Carole & Shirley Louise La & Roger 2H E 10 (+2) -170 170 4 2
13 Sue T & Roy Diane & Keith 2S N 8 110 -110 4 2 14 Sue T & Roy Diane & Keith 5C* N 9 (-2) -300 300 2 4
13 Anne M & Ray David P & Les 2D W 9 (+1) -110 110 1 5 14 Anne M & Ray David P & Les 4S W 10 -420 420 0 6
13 Sheila S & Peter La Julia & Dave E 2S N 10 (+2) 170 -170 6 0 14 Sheila S & Peter La Julia & Dave E 2S W 9 (+1) -140 140 6 0

"Matchpoint" scoring - A pair gets 2 points for each pair (playing in the same direction)
that they beat, and 1 point for each pair with whom they equal


